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public interface ChannelService {
void wechat();

void alipay();
}
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public class AchannelService implements ChannelService {

@Override

public void wechat() {
System.out.printin("ARBHIZ");

}

@Override

public void alipay() {
System.out.printin(" AZEESZFE");

}
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}

public class BchannelService implements ChannelService {

@Override

public void wechat() {
System.out.printIn("BZRERIZ");

}

@Override
public void alipay() {
System.out.printin("BEEZTE");
}
}
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public class ChannelServiceFactory {

private static ChannelService achannelService = new AchannelService();
private static ChannelService bchannelService = new BchannelService();

public static ChannelService route(String channelCode) {

if (channelCode.equals("A")) {
return achannelService;

} else if (channelCode.equals("B")) {

return bchannelService;

throw new lllegalArgumentException();

}
}
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public static void main(String[] args) {
ChannelServiceFactory.route("A").wechat();
ChannelServiceFactory.route("B").wechat();

}
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